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1 ___ = 6,000 + 90

2 ___ = 8,275 + 82

3 826 = 800 + ___ + 6

4 ___ + 5 = 341

5 9 × 41 =

6 5.87 + 3.123 =

7 180 ÷ 3 =

8 120 ÷ 12 =

9 213 × 0 =

10 91 ÷ 7 =

11 ___ = 87 − 65

12 602 − ___ = 594

13 1,210 ÷ 11 =

14 25.34 × 10 =

15 60 ÷ (30 − 24) =

16 33 =

17 101 × 1,000 =

18 20% of 3,000 =

AnswerQuestion
19 7 − 2.25 =

20 0.9 ÷ 100 =

21 9 − 1.9 =

22 1 
!
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#
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25 888 ÷ 37 = 

26 1 $%+ 2
$
$& =

27 35% of 320 =

28
!
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29 51% of 900 =

30 468 x 62 =

31
(
! ÷ 3 = 

32 2 $( −
!
# =

33 36% of 450 =

34 1 !# x 10 = 

35 %
) x 540 = 

36 8051 ÷ 83 = 

AnswerQuestion
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AnswerQuestion AnswerQuestion

Year 6 – Autumn – Week 1Answers

1 ___ = 6,000 + 90 6,090

2 ___ = 8,275 + 82 8,357

3 826 = 800 + ___ + 6 20

4 ___ + 5 = 341 336

5 9 × 41 = 369

6 5.87 + 3.123 = 8.993

7 180 ÷ 3 = 60

8 120 ÷ 12 = 10

9 213 × 0 = 0

10 91 ÷ 7 = 13

11 ___ = 87 − 65 22

12 602 − ___ = 594 8

13 1,210 ÷ 11 = 110

14 25.34 × 10 = 253.4

15 60 ÷ (30 − 24) = 10

16 33 = 27

17 101 × 1,000 = 101,000

18 20% of 3,000 = 600

19 7 − 2.25 = 4.75

20 0.9 ÷ 100 = 0.0009

21 9 − 1.9 = 7.1

22 1 !" - #" = )
"
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25 888 ÷ 37 = 24
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27 35% of 320 = 112
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29 51% of 900 = 459

30 468 x 62 = 29,016
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(
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*

32 2 $( −
!
# = 1 !#

33 36% of 450 = 162

34 1 !
#

x 10 = 17 (
#

35 %
) x 540 = 450

36 8051 ÷ 83 = 97


